Eams

(325w

3

1; B8 m;_.

, 110

4

27,08 m?

4+
AN A1

I "’|-‘
If oS

“52,75mf * 1 [
64,42 OBIIIA IIJIOI] =F

Ar 2
47,97 m?
58,58 OBILIA ILJIOIII

HAIHEBHS

Lok
240

[ |y 1y |
I S T |
1 25

“ |
o |

ETAX 1 155,37 m?




437

413

481

318

PR TS

. W
7 i 25 ‘ ‘ RJ\\
| ] §
E_ 180 o \
;“35{‘13 5 | & 152~ \.\
\\.
63,06 OBIIIA I1JIOILL J i 1 \,\
= | o3eneHsBaHe '
1 Al 3 : S5
T 151 08iih?
L T s
Il 1 | :
= — 1
1 g0 1 38 "‘ |
4 N\ ' ‘I T ® Bana WC |, :
: \ \\ \\. 5 4 3 i : g 180
:M\_’, 4 t\_ i fﬁ 128 B, il 7 7. 25 300 E A
Iy SN\ W/ T |l
~dls 1 il o
| 3 = =17 =3 =
1y w
25,82 m? = U
g T 38
e =] XHAIHEBHE
L An4 Pasn
w7 4058 m?
A 50,41 OBIIIA I1JIOII]
— -%h I gl-; !!‘_
.?_! \‘é%wc - el ;?:
I f!: 1 [T g]lﬁ is ﬁTT |
s ———t — ~
‘ AM5
F 46,55 m?
— = 57,94 OBIIA IUIOLF i
| - == | |
f-
\:miigs {:I 1000
[ |
w v D3eneHABaHe
ETAX 2 164,23 m? ,

220




£ 37,

—]
-
—]

4

413

]

KyXHAAHEBHE

IR . Al 6 LCzasn]

I 49,41 m? —
'||| 61,03 Ob TJIOII]

"| oseneHsBaHe
: \
10,55 m?

i
[

o

* ] == 1] =

. = — F ‘E._i_ [ |
— —
< NN | e -

|

100

[]]

I'Il'i 25

HA/AHeBHA

[ S |l'_--__. ==

I

5 (Bl
W
200 i

ol
(=}

43,56 m?2
54,12 OBIIA TIJIOI] ——

251

1 009
1
—

|

|

|

|

|

|

133
215

i 25

SEE LJ 218 rr— '—-%35_ —

All 8

I 45,58 m? ® .

[ 56,73 OBIIIA TLJTOTI] o P
T

* L] 1 § 1

319
=]
(=}

I'H"IJ 25

o3eneHABaHe
13,28 m?*

ETAX 3 164,19 m?




150

o

e T i

51,39 OBIIIA ITJIOIIL
Al 9

fn a0

413

L 41,59 m? NN
Ii TTPOJIAJTEH ?

L sl T—
e

1

ALY
75

| — ';If;:' )
{ 2 ) m L i o3erneHaBaHe

[ -
g | Hensnonseaem 25,88 m*
== R | NNOCHLK NOKPWB

{ ) | =
[ ) &

\ /S D 75

8 Bana WC s

. ¥ Gom i

[
[/
//

/
8
-
L
ﬁl
—>
200
12
w]d
B
2
nn 150

nn 150

1009

10
210

Tz

=T AT 10 MY Sefe2e%
- 41,58 m? aca

IIPOJIAZIEH H Pas X
ol oo

51,75 OBIIA HJIOAh.J 11

267

nn 25
|

o

Pt

|

ETAX 4 108,94 m?



| 180"
215

s 180
E 152
- o3eneHABaHe
cnanya i "
N \ \
P N \'\I\ .I'\ ZIE
\\ \\.- \ _,
| ‘“\\\_ :‘:\x \\ \\ ./.
LN\ Y 1]
25 82 m?2 )| o4
TPOANIEH
I
_________ -
- d-- E_
O | =
et Baka WC | —
== ;{/{/ / ] Zgg 'ﬁigjﬂ [ o
AN/ f L~ ] B
/,- :‘f T 4
/ / 100 /
20 / MR
All 11 il :-
L)
65,92 m? :
3
—=—— 81,11 OBIIAIUJION] |
=
—| 17— 71
‘_ ‘ _nnzs _‘
8¢

ETAX 5 91,78 m?



